
解答

1.

|0⟩⟨0| =
(

1 0
0 0

)
, (1)

|1⟩⟨1| =
(

0 0
0 1

)
, (2)

|+⟩⟨+| = 1

2

(
1 1
1 1

)
, (3)

|−⟩⟨−| = 1

2

(
1 −1
−1 1

)
, (4)

|i⟩⟨i| = 1

2

(
1 −i
i 1

)
, (5)

| − i⟩⟨−i| = 1

2

(
1 i
−i 1

)
(6)

2.

|0⟩⟨0|+ |1⟩⟨1| =
(

1 0
0 1

)
, (7)

|+⟩⟨+|+ |−⟩⟨−| =
(

1 0
0 1

)
, (8)

|i⟩⟨i|+ | − i⟩⟨−i| =
(

1 0
0 1

)
(9)

3.

|0⟩⟨0|ψ⟩ =
(
α
0

)
, (10)

|1⟩⟨1|ψ⟩ =
(

0
β

)
, (11)

|+⟩⟨+|ψ⟩ = 1

2

(
α + β
α + β

)
, (12)

|−⟩⟨−|ψ⟩ = 1

2

(
α− β
−α + β

)
, (13)

|i⟩⟨i|ψ⟩ = 1

2

(
α− iβ
iα + β

)
, (14)

| − i⟩⟨−i|ψ⟩ = 1

2

(
α + iβ
−iα + β

)
, (15)

1

作成者：吾妻広夫

https://creativecommons.org/licenses/by-sa/4.0/

